
 

 
 
 

 
 
 
 

 
 

miuahz;Lj;Nju;T 2022Æ2023 
 

             jkpo; - Mz;L 11 
 

 

 
 

 

Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;ngWk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk; gpioahapd; vdTk;  
milahskpLf.                                                                                                       

 

1. éje;Njtdhu; <oj;ijr; Nru;e;j Gytu; Mthu;.   
 
 

 

2. rq;f fhyj;jpy; <oj;jpy; jkpo;g;Gytu;fs; thotpy;iy. 
 

 

3. 19Mk; Áw;whz;bypUe;J <oj;jpy; vOj;jhsu;fs; gyu;  
  Njhd;wpdu;. 
 
 

  

4. <oj;jpy; jkpou;fs; kPjhd mlf;FKiwfshy; nkhopg;gw;Wk;  
  ehl;Lg;gw;Wk; kpf;f gilg;ghf;fq;fs; Njhd;wpd. 
 
 

   

5. <oj;Jg; Gul;rpf;ftpQUs; GJit ,uj;jpdJiuAk; xUtu;. 
 
 
 

 

6. <oj;Jj; jkpo; ,yf;fpa tuyhw;iwg; GJit ,uj;jpdJiu  
  mtu;fsJ gilg;ghf;fq;fs; Gj;Japu; ngw itj;jd. 
         
                   
 

7. GJit ,uj;jpdJiu mtu;fsJ gilg;Gfs; fhyj;ij  
  cs;sthNw gjpthf;fpait. 
 
 

 

8. \xU Njhodpd; fhjw; fbjk;| vd;w ftpijg;gilg;G jha;nkhopg;  
  gw;iw ntspg;gLj;JfpwJ. 
 
 

 

 

ngau;: 

 

; 

(8 x  ½  = 4 Gs;spfs;) 



  

M - gFjp 
 

 

 xypapWntl;by; xypf;fg;ngWk; ciuahlw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. ftpQu; GJit ,uj;jpdJiu mtu;fs; gpwe;j Cu; vJ? 
 

     ___________________________________________________________ 

2. mk;kh gbj;jjhff; $wpa GJit ,uj;jpdJiu mtu;fspd;  
  ftpijj;njhFg;G vJ? 
 

     ___________________________________________________________ 

3. ftpQu; GJit ,uj;jpdJiu mtu;fspd; Gidngauhff; $wg;ngw;wJ  
  vJ? 
 
 

     ___________________________________________________________ 

4. ftpQu; GJit ,uj;jpdJiu mtu;fs; jdJ ftpijfs; %yk;  
  vtw;iwg; gug;Giu nra;jhu;? 
 

 
 

     ___________________________________________________________ 

5. ,tuJ nfhs;ifahff; $wg;ngw;wJ ahJ? 
 

 

 

     ___________________________________________________________ 

6. GJit ,uj;jpdJiu mtu;fisg; gw;wp vq;Nf gbj;jjhf kfs;  
  $wpdhu;? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


